® 12400 Earl Jones Way
Louisville, KY 40299
rev-a-shelf.com
Re u ® H .SH€ L F Customer Service: 800-626-1126
. " - CoYohDA
Innovation through Organization™

INSTALLATION INSTRUCTIONS

WOOD PANTRY PULLOUT

TOOLS REQUIRED:
2 3

@ [—— @0 >

Slide Kit

Parts List
No. Description Qty
1 #6 x 1/2 Flat Head Wood Screws 6
2 #8 x 1 Deep Thread Flat Head Screws 12 B
3 #8 x 2 Wood Screws 12 Ve Sﬂﬁ'd“:p Glide Rail | ToP Glide Stop ﬁ:\
4 #8 x 1 Pan Head Screws 8 Amm Allen Wrench
5 6mm Wood Dowel 12
CARE AND MAINTENANCE: 6 1/4-20 x 1 Flat Head Machine Screw 2
_ 7 1/4-20 x 2 Pan Head Machine Screw 2
vculi:aenpu:rlttz :;?mp cloth and 8 #8 x 1-1/2" Flat Head Screws 10
9 #8 Flat Washer 8
10 1/4-20 Tapered Barrel Nut 2
SCAN HERE FOR 11 Snap Toggles 2
INSTALLATION VIDEO 12 Front Panel 1
13 Back Panel 1
14 Bottom Shelf Assembly 1
15 Adjustable Shelf Assembly 4,5,6*
16 Top Rail 2
17 Floating Back Plate 1
18 Pantry Feet 2

* Dependent on unit purchased

WWW.REV-A-SHELF.COM/
VIDEQOS

INSTALLATION INSTRUCTIONS: WOOD PANTRY PULLOUT I-448TP-FULTERER-0423



12400 Earl Jones Way

nas ¥
3 Louisville, KY 402595
L L rey-a-shed,.com
Customer Services B00-025-1124

Innovation though Organization

INSTALLATION INSTRUCTIONS

WOOD PANTRY PULLOUT BOTTOM SLIDE TEMPLATE

CUT OR FOLD ON DOTTED LINE

e e
3 % FRONT OF
3 o CABINET

N

°
©

—
>

%

SITOH LOTId #ZE/E X9

SFTOH F1990L ¢/ XZ T118A NIHL

1Sd14 S1O7Id «CE/€ 111y d

T-438TP-FULTERER-0G23




